
  



  



  

11 spins
Need to split matrix



  

6 spins &
5 spins

Note: spin 19 couples to both submatrices



  



  



  



  

Spins 9-14 → group 1
Spins 15-19 → group 2



  



  



  



  



  

Expand
around 
methyls

Methyl spins



  



  



  

Doublet due to coupling to 19 (additional coupling)



  

Left click on cell; ctrl-v



  

All methyl spins 
have same chemical shift



  



  

Needs coupling



  



  

Spin 19 is coupled to 1 group of 6 identical spins
with a single coupling constant 



  



  

Set all methyl spins to group 1



  

Couplings are to group 1



  

Must add coupling constant



  



  

After “Process”



  

Optimize additional couplings



  



  



  



  



  



  

Process other submatrix



  



  



  

Usually ignore this



  

Expand



  



  



  

Pick peak



  

Left-click;ctrl-v



  

Left-click;ctrl-v
process



  

Long range couplings (4 bond) can be set to zero

Left-click on cell; type 0



  



  

Group and optimze couplings
Left-click on cell; hold shift and 
left-click on another cell to select 
rectangle



  



  



  

Go to full spectrum



  

expand



  

After process &
Go to ROI...

Pick peak
15,16



  

Left-click;ctrl-v on both 15,16 diagonals 



  

After Process



  

Pick 19



  

Left-click;ctrl-v
Then process



  

Spin 19 is coupled to the methyls 
that are not in this submatrix 
(additional coupling)



  

Here one spin (19) makes 
up a group and is coupled 
to 6 other spins (methyls)



  

Only spin 19 is selected



  

All couplings are identical and can be one ID



  



  

Must set estimated coupling constants



  



  

After Process



  

15,16 couplings to 19



  



  



  

Left-click 15,15; hold shift 
and left-click 16,16
Group and optimize



  



  



  

Optimize 19,19



  

Optimize additional couplings



  

Slide right



  

Set all to one group for a single coupling constant



  



  



  



  

Almost done; need to 
merge submatrices



  



  



  



  

Coupling determined in submatrix 1



  

2-7 determined 
from submatrix 2



  

Could select only 1 or 2-7 (and discard others)
Selecting all gives average



  

Finished: mark Done



  



  



  

Move on to next spectrum



  

And load



  

Don’t forget to save current workspace



  



  


	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15
	Slide 16
	Slide 17
	Slide 18
	Slide 19
	Slide 20
	Slide 21
	Slide 22
	Slide 23
	Slide 24
	Slide 25
	Slide 26
	Slide 27
	Slide 28
	Slide 29
	Slide 30
	Slide 31
	Slide 32
	Slide 33
	Slide 34
	Slide 35
	Slide 36
	Slide 37
	Slide 38
	Slide 39
	Slide 40
	Slide 41
	Slide 42
	Slide 43
	Slide 44
	Slide 45
	Slide 46
	Slide 47
	Slide 48
	Slide 49
	Slide 50
	Slide 51
	Slide 52
	Slide 53
	Slide 54
	Slide 55
	Slide 56
	Slide 57
	Slide 58
	Slide 59
	Slide 60
	Slide 61
	Slide 62
	Slide 63
	Slide 64
	Slide 65
	Slide 66
	Slide 67
	Slide 68
	Slide 69
	Slide 70
	Slide 71
	Slide 72
	Slide 73
	Slide 74
	Slide 75
	Slide 76
	Slide 77
	Slide 78
	Slide 79
	Slide 80
	Slide 81
	Slide 82
	Slide 83
	Slide 84
	Slide 85
	Slide 86
	Slide 87
	Slide 88
	Slide 89
	Slide 90
	Slide 91
	Slide 92

